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Quiz 2

In the following let 4, () be the eigenstates of an infinite square well on the interval,
0<z <1t

PYn(2) = V2sin(nnz). (1)

At t = 0 the wave fuﬁctio‘n, ¥(z,0), is 1/v/A for 0 <z < A and zero for A < z < 1. This
wave function can be expressed as a linear combination of the infinite square well eigenstates:

V(2,0 = 3 catinl). @)
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1. Calculate cn
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2. What is the condition on the ¢, that the wave function be normalized? (You can just
erte this down.)

1L = leal®

3. Write down an expression for the wave function as a function of time, ¥{z,t).
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